$19E HERAZ2D7 LRDEYY h—KE (MNEEDER)

[REsb—F A2 R) TEHE
1[E8 FR29F1A288(1) 4584 / R Fr0FE2A11B(EM) 2:8E / BB FRR20F28198(H)
B
2 0
PK 2/1:'2?3:00
4 2 BERIT L
2 2 1 0
2/1:“233130 2/1:\/'249:30
Lh LIy hR— Lok Fi—
JWIS—5 JLIS—5 PK
1 3
1 3 3 1 2 0 3 3
1/2;/I1 99:30 1/232?0:30 1/22:2111 :30 1/2?2122:30
LA LTIy bR— LA LTIy bR— LA LIy bR— L LTy bR—
WIR—=5 WWIS—5 WIS—5 WIN—=5
5] h = R B £ -
= X * - ==
[F:E)—7) BHO3 (Uh | BIESFAIK AV | &1+ @0F (Uh
%18 H 1878 (1) 21 LALZ 7Y FAER—IL/—5 6RE
8:30~13:30
A HERX MENIR FER |¢or|sxe| 84| IR - RKE | JBR BRG] o|nss| 8wt
m@z 122 026 0 _7 1 3 % B 290 0!1 3 1 2 2
H%JIIE 2(_)1 023 3 _2 2 2 7|E, z 022 124 O _5 1 3
BERX | 2 | o2 61991 EERX | S | .2, 64]5]1
$28HH 1888 (H) 215 : LALZ 7Y FAR—IL/—9 6RE
8:30~13:30
Birag| AR ARX |&otesx=z|Ba| 1B [ ] PFER| X B |5 o exz|gs| @
Birax 2 .2 [0]-40]3 FIER L2, 3132
b X | .,° O, [6]3]3]1 2K |9 Lo l6]5(5]1
B ||, 3[1]2]2 B X |2 %] % |0]s1]3
%38 H 1A98 (A#) 215 : LALZ 7Y FAR—IL/—5 6RE
8:30~13:30
BFX | €RE | BRR | o sxz|8a|Ek HIR | BRE | BHEE |r or|sx2|ms|Es
BT om0 | 200 |4]2[2|1] | #EILE 020 | 22, |2]0]2]2
£RE | .5 & 11113 & X | .5 2. 1]of1]3
A
BRAX | 2 | .% 3|-1]2] 2 BHREX | L2, | 2, 412(5|1




